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1. A first aid test has two parts, a theory test and a practical test.
The probability of passing the theory test is 0.75.
The probability of passing only one of the two parts is 0.36.

The two events are independent.

Work out the probability of passing the practical test.

Solution

The key word in the fourth sentence is independent — and we can make up a tree
diagram.

The probability of passing the theory test is 0.75 which means probability of passing
the theory test is
1—-0.75 = 0.25.

Let the probability of passing the the practical test be p. Then
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Now,

0.75 x (1 —p) +0.25 x p=0.36 = 0.75 — 0.75p + 0.25p = 0.36
= 0.39 = 0.5p
= p = 0.78.




